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Place an “X” if Closed N3 (if no indication, we’ll assume Open X"%5) 1T of the nT. t|mes 1St n1om2?

Please email or fax your completed m2°ma using the contact info above by Monday, August 28, 2017 and we’ll send it back marked, 1"a.
All scores 90 or above will receive a financial incentive in the form of a gift certificate. Any comments, suggestions or corrections would be
appreciated. Copies of these tests and answer keys can be obtained by contacting us or by download from our website listed above. Initially,
the “questions only” test will be posted. A few weeks later, we will post the “question/answer” sheet. Please write clearly and use only black ink.
Unless otherwise indicated, all questions are based on >""w=\x=2s.

This week’s 732°n2 starts eleven lines from the bottom of 72 7°7 .:77 77...
and ends three lines from the bottom of a8 X3°7 3377 1275 .1 97.

(22:30 29727) RV T2 7O TAPR TRY-R 1T WWITS WIT 00 MHWH WRA KD TPO-K "7 971 NN %D

This week’s test starts in middle of the discussion regarding the xn»92 that expounds on the
abovementioned 105 containing the 8% of anxn 2.

RUIT 722902 K1 ,ROT 72 5797 ... 973 7N 90,130 U0
1. How did the 8723 (originally) understand the Xn>12’s statement of X0 732772 R1?

(2:0 27127) :9A°21 IR "7 N2 WK PR MW T WIARN TRY-K 17 %10h

2. A) What period of time does the 772 have to eat a 71152?

TIREY TP NIDDY AT TN TIAT WYR W MR JOWH AT WK 2PN TPD-R 7 DD nhoRY
(32:7° 2927) 12977 9 TPR-R "7 DR IRTD TRbN R

B) What does (7°&n °27) > learn from the fact that this P05 mentions both 7122 and wyn?

C) What question does our &n3 ask from 2°7n& on our Xn>"71?
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2. D) How does our X711 answer?

1O DIAD 10 2w KD NN 2PN RN KD WD 22 1R 1At Twan YR BarT axy
(P37 ROPYY) RWN 7Y AR NYSRT Wi

3. A) This s teaches us (from 7% X?) that 2130 invalidates a j27p. What does *X1v j2 learn
from the seemingly extra word of 1nIR?

B) How is this difficult on our Xn»12?

(19:25 YHwn) :onnnR TaswR AP Rk 2w 9 PN aN

C) According to 731 27 or some say TYYKR 27, what is the punishment oW >7°2 for someone
who claims that he cannot afford to pay back stolen money?

D) How does our X713 address this difficulty on our Xn>92 (#3B)?

(72:32 @°927) :7°B2 NI3T WK 7372 '[’P’?-N 7% NTTI WRD WYY WD PREW N3

4., What do we learn from the words ...

A) TnOWw RXIN?
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4. B) "mwn?
C) mwwn?

D) n71 Wwxa?

E) 778 '79?

F) ma71?

G) N127 TWR?

H) 792?

DR 29T 2INDY AW ANRATY IR NRDY WITH NOwH 2w MW IR 21D 2DWaw Horn aoph-R 17 7AW 21PN UR AR 0
(-7 2% 29727) :22IRTY 23TP2 NTS2Y 2DIN2TIY DTN BSTY NN DRI ASNWYR

5. A) What question does our X713 ask on #4 from these two 2°p105?

(22:32 29927) :RUT T2 7MY TAYR TTRPY-K 7 WWNTY WAT D WOWD MRA RY PPY-K 79 73 NN D
B) What question does our X713 ask on #4 from this p105?

(3:R X P™) "7 9157 1R INR 29990 TR DN AND DR W20PY 2%AN 5T PAT 1B 12 AYY AN

C) What question does our &7 »3 ask on #4 from this 109?
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5. D) How does the X713 answer these three questions? Provide the X713’s full explanation.

6. In general...

A) What words are used to make a 171?

B) What words are used to make a 17271?

C) What is the 1727777 72 Xpo1 between a 771 and a 72717

D) In our X 1X’s explanation of stage one, how does one make a 72717

7. A) X271 says that when a person vows to give 727X he is required to give it

B) What is X27’s reasoning?

C) Why was it necessary for X271 to teach us this? Is it not obvious?
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8. A) According to X297, at what point does one transgress the 7wy m¥n of avoiding the delay in
bringing a 127p?

B) Our X773 asks on X271 from a mwn that says 27p°Ww 2a%W 791 9Y 0°°99 %27 YT ' 7V

A2 279 7721 799K 11092 F19IRY 2OMPW ONAT HW 77D 119 0w TOVR PIR L0799 927 AR .0Ow
(21 n1TY). Was the Xnx’s question on 827 due to the fact that 059 °27 didn’t bring the 791 on
noa? Why or why not?

C) Was the Xnx’s question on 827 due to the fact that 095 >21 sacrificed the 791 on an
(M>210)? Why or why not?

D) How did &277 7°nwn 7721 27 answer this question?

E) How did *wx 27 answer this question?

F) Why didn’t 7°27 27 accept "X 27’s answer?

9. 2nXN %22 721w 211 O 932,0°937 3 1PHY 112V 1170 X2 IR (NR).

Our X773 asks on X271 from a Xn>92 that says K72 71w P9V 1729w 11°0 ,2°W7P0 93 70K 1122 70X
IIRN 922 72, 7w X2 20930 ,20030.

A) How did X175 27 explain why this Xn>>72 poses a difficulty to X27?
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9. B) How can X27’s position be defended?

10. The abovementioned Xn°°72 says, 2°737 X722 71w 27°9Y 1129w 11°0. On last week’s 77 a NP7
was mentioned regarding Tnxn 92 and whether the passing of three 0°%37 needs to be 17702
(starting from o). According to 1w»Ww °27°s opinion that they need to be 17703, it is simple to
construct a case where a year passed without three 0°%37 passing 77702. However, according
to the 7127 who do not require them 37702, the X1 questioned how it is possible for a year to
pass without three 2> passing.

A) How does »21 calculate a year, and how can a year pass without having three 0°937 pass
(even 17700 XHW)?

B) The 770 doesn’t mention a specific date for my1aw. It starts fifty days after the beginning
of " w7 n7°90. According to °vnw 27, on which date(s) can nyaw fall on and how?

C) The 3327 disagree with how °27 calculates a year (#10A). How do the 7327 calculate a year?
And according to them, how can a year pass without having three o°931 pass (even X5w
17702)?

D) According to 2R (7°Xn °27) who disagrees with 7y2w 27, on which date(s) can nm»naw fall
out and why?
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11. A) X7°1 727 asked if a w1 is liable to fulfill the vows of his father. What were his two 2°77%,
possibilities?

B) The X723 answered X7°7 27 from a Xn>>72 taught by X1 °27. We learn from the word Tnyn
(22:30 @»127) that the v liable.

C) The X1 asked how we can learn this from the word 7nvn. On last week’s 77 we learned
from the word Tnvi that anxn %2 applies to axo1 anow vP2. How did the X nx answer this
question?

12.X7°1 °27 asked whether the 8% of 2nxn %2 applies to women.
A) What was his reason to think that it should not?

B) What was his reason to think that it should?

C) »ax answered X7°7 °27’s quandary. Which reason of X7°7 °27 did >2X pick?

D) What problem did the X723 have with *2X’s resolution?

E) How did the X771 resolve this problem?

Let’s plan to be 711 the nse» focusing on a simple 5911 of just the xvwY XoPw inside:
Were you able to make a few minutes every day for an immediate ;1211 of the portion just learned?
Were you able to make time on naw or Sunday to do a s7tm of the n7?

Were you able to make time on naw or Sunday to do a 57t of the last 3 2°57?




